BANxinE 6 6 kgihk

1 ki thzht 2F ST ST 9 Hih CKEf 15
(FeFE) ST ST (WERBERE)
9 MT FE® 2% 10 Bl OEXK 2%
(BEHEIX) 0-4 0:33 PP ST 0-4 0:55 (I B T 3€)
3 & H 24 ST 0-5 2:1911 NiE B 2F
(I R T %) (E5)
4 gk KiE 1£F 0-4 2:11 0-4 0:42 19 wmh /R 2F
(ERER) 0-4 0:41 VT (FEHRE
0-4 5:36 ST
5 B8 FE 2% ST VT 13 BR wm= 1 &
(hiEE%) ST 0-4 1:17 (28)
6 & ZEth 2% ” AR ¥} 2F
(RfB) 0-4 0:18 0-5 4:33 (HRI)
7 S —# 2% ST 1-3 6:00 0-4 3:13| 0-4 0:47 5 aHF ES 1£F
(K52 IKFE) (&)
g 2N BARK 2% 0-4 1:03 ST =K HFE 2%F
(FER=) 0-4 0:31 ST ZE X
JIIE 432 T M OB ¥ M B Iz B 8 = E &
14 #BR #= 14| E&E Bz 2f& FE FE® (2f| #HWL KB (1£&
(E) (FedR) GCESED) (WNERBEEE)
> i Il BARKX 2% i ¥\ 24 =K HFE 2% ngE  KiE 14
(FER=) GETYY) E X Ei;)
34 NiE B 24 RE —# 24 & 2% BH Ei 14
(E) (BE2KE) (7 T %) (B3
41 MT FH 2% KHE H 2% HHE BK 2% @&z Eih 24
(ZEETE) (FEI) (2T (ARB)
weE mH BT 2% KA #ih 2% FIR Pl 14
(—ET%) (BizrhR) (KETZ)
Q8 El KRB (WEREEPE)
2 kil s GR®
SEAEE TE hEmd
346 = HE &E X




